F63MTRAR—VERE EBE RS F6IRKHTRELEFREE RS F62EFKHTHFERKERE LB KES [24054004]

e 3 KTy &N E HE Hets
Ja—REFYT A [52030] EAES-is i
2024/10/05 ~ 2024/10/06 B B % M E Uikt 45
B A fEE i oir 3(ir Afir 5{% 6{ir 7 8fir
e T g BAnc) 13.321/hv EEn(1) 13.54|# 2 K FREE() 13.94[/ v B2A%(1) 14.10|# 2 K BE3EQ) 14.23[FF] #HQ) 14.30/MVs Z=H(1) 14.48| g A1) 14.53
10A6H %%ﬁlﬁél%m
S FKH R 1 1 P2 o B WY 5 B Y TEV AT B = 5 TEVFIT B 2% 5 FKHE P
e A8 K532 Q) 13.53|E L DaE(2) 13.63[ A WpxD(2) 13.82|F B HR(2) 13.84[8K BHEFIQ) 14.10|Fn M 1EB2) 14.218A B HAEQ) 14.42| 5% 184E(2) 14.54
10460 %ﬁmﬁzﬁloom
S T BB = THIFIT B 2 5e THIFIT B 2 5e ¥ T K NG
12 fe 7 T Al 26.69|5 57 F53(2) 272214611 @ED(2) 2787\ HR(2) 28.56|8 K HLE(2) 28.65|7ii® Z&4a(2) 28.84|1E % K FE(2) 29.06 1% A TR 29.06
10450 - m%;iagzomn
C K H B FEET B =2 B5E FEETT B =2 B5E FEFTT B =258 A bR +IFF o B
g =) 2:16.71| Nk 05(2) 2:26.33 |1k A I(2) 2:28.90| 2% 1HE(2) 2:29.85fthAf 1EHE(2) 2:31.09[fthA EBZ=2(2) 2:33. 12 W FEmBE©2) 2:33.21[/NIE FhF(2) 2:34.30
10H6H FR A Az - 3E800m
= GR|3krd A ) A A K FH B AE)T
A BRBE(D) 4:45 .44 FEE(L) 5:23.721tR A 2HR(1) 5:33.26|1& ik (ERZ(1) 5:36.92| 7 K1) 5:38.95 &1 1ZP(1) 5:42.53|45 8 H (1) 5:46.54(/M% BAF(1) 5:54.29
10H6H HR 2 A F-14£1500m
A EIT GR|4H FIT B 5258 K H RS A E) AR E)I IR B I B T e R 2T
s =) 4:41.23| N 0M2) 5:07.44 |15 A (2) 5:16.28 |4 1EE(2) 5:20.34 b4k BZE(2) 5:24.75|/ME  FhFE(2) 5:27.61(+H BEZ(2) 5:28.10|HEEE E(2) 5:30.54
1056H HR 22 1-24£1500m
= GR|3krd A A A A EJI + 175 TP 258
e 74 T 3% (2) 16.67|HH £r1(2) 17.44|1Ej% R5AEQ) 17.91|# 2 K FhA(2) 18.11]85A BHATER) 18.12|fk M RA4(2) 18.70| (e B < (1) 19.08
10A5H %ﬁg: 5&; 100mH
S 1 e A L ONL T i HP 9] KR KR I B
TENAIT B = ot 53.44 | R ah TP =D 54.32 K H R 54.34 | 54.96 I 5 B 55.20| 1l 55.53 [ 55.54 |5 B 55.88
R BRQ) 1k FEAEQ) B ARk =) EPQ2) g B4 &) IR ZE3E() ks EEQ2) e INEE(2)
10760 | 5%k 7HLiEaxX100mR |41 PpEo(2) Ny B ROHIEAEQ) R L (2) AR ERR(T) ex K 1EQ2) A BHEQ) IR Zlh(2)
AP KER(2) =R AR ) TRE BFn) K B (2) e x A &) Fam FE3(2) Ve A (2) 12/ T5EA2)
e K BEE(1) iR & (2) BEH ER(2) PEER nJh(2) A= EPI) e N0 ikl EBZ2(2) A HEHR(L)
ROHIEAEQ) Im45 |l A E2) Im35 |k 224 (2) Im30| ik EA(2) Im30| i tj& BR(2) Im30[Af HWpi%(2) Im25|(JHiE 5£(2) Im25[Hd FEZ3(2) 1m20
FKH B KR A A E)I K e + 175 +- IR e
10H6H R A - 3 A i Bk
&2 LEQ) 1m20
=
ROFIEEQ)  AmbTHLDFR KRAEQ) 4m27(LD|ERE FEEQ)  4m25(+2.2) 85k 4 (2)  4m24(+0.2)|HiIA FEQ) 4m22(+0.9)|&A LEQ) AmlTE2.DWex A B3EQ)  4ml5G+1.9)|EH &S 0@) 4m02(+0.1)
10H5H R A -3 A R Bk
FK R t-lgF T e A JAERAM18(-0.7)| [ 1 H Ak FONLE R AFRAMOT(+1.5)| fE AT B 2 Bt K TE
AN N Sm66 |1k FEEQ2) Sm23 |1k ERAR(2) 8m19|fE % K E(Q2) 8m06| % FALQ2) TmI8| I RIFE(2) Tm61 R LME(2) Tm58|/ M FEWE(2) 7m05
10H5H R SR A - e R U
T i HR A K H e T B B R f = K G = T B 2B
FSEAREI e v T B =2 BrE 43 15| FKH B 33| i i R AR 33| B 22,5 | E 1 155 R 135 (9 1355 |8 135
ST A BLRE FKH B 8T | AT B 25E 67 5| P i R AR 54| FM B 33| B 315 | 31| BRI 3045 | FK P 30,5

JLG:GR Rtk AV @Bk DR — kI T DINERL OB NI EERRRE R D 2L D RS T DIERLOE T EALFE B D218 D




